光學作業 應物四甲 0921774 廖源淳
Problem 8-6
A Michelson interferometer is used with red light of wavelength 632.8 nm and is adjusted for a path difference of 20 μm. Determine the angular radius of the (a) first (smallest diameter) ring observed and (b) the tenth ring observed.
Sol:
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Comments: 本題解錯了吧！

應先解出圓心的order（可能為分數）

再取整數 得到first ring的order m（對應的order p = 0）

即可算出其角度m
許芳文
_1229814348.unknown

_1229814846.unknown

_1229815076.unknown

_1229814786.unknown

_1229814802.unknown

_1229814832.unknown

_1229814426.unknown

_1229814279.unknown

